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RTSVU7W)XZY\[ZY\]�^C_	`7acb+dfe
A g B

a�h g/ikjfg dZlma�andfhma g/o aqp�`7a�lmr�eVs@a A∪B A∩B A \B

g h�a�andftGavu�w-axh g a�rmavh j-y lzb+dZlma{h�e|dfe}andfhma g/o axb+~ g rmlmaq�fu�w-a j h�a<e�d g h�h j dfe�t g axt jfgk�
a) A = (0, 2) B = (1, 3) b) A = (−∞, 3] B = (−∞, 1)
c) A = [−1, 0] B = (0, 1] d) A = {x ∈ R : x2 > 4} B = (1, 3)

RTSVU7W)XZY\[ZY\]���_��Tanr g ��s g rma��CuVb+dft-e|d gKyvg ~-r�e|~-a g lz�G� � j b y a3t g/ynyvg h g/ikjfg dZlma�h�e|dfe�r g5�
y b+��ave|d-axtGa g � j anskb yvg d-�Lb}and R �

a) x ≤ y b) x + y � andZl g r�e
c) |x| = |y| d) x(1 − y2) = y(1 − x2)

RTSVU7W)XZY\[ZY\]��E_�� g rma��CuVb+r g h g�yvg h g/ikjfg dZlmaChze|dfe�r g/y b+��ave|d-a'tGa g � j anskb yvg d-�Lb g ~ g r�e i d-a
a ∈ R

lmr�eVskb+r g�y b�u y b|hzh g tGa a � [a] �
a) x = y b) x2 + y2 ≥ 6 c) x2 + y2 ≥ 0
d) |x − y| ≤ 12 e) cos x = cos y e) | sin y| = 1

|x|+1RTSVU7W)XZY\[ZY\]��<_��Tanr g � j b yvg lmrzb yvg h g/ikjfg dZlma ��j dCb�~Cb+rmlman��ave|d g�i a j hmlma��CuVb+dft-e y brmavh�~�ekhmlzb �b���a y ~Cb+rzb ynyvg/y avh o e=lmrzb�r g lml g and j dK~-acb+dfe� ��hmacb
a ∈ R

� |x| ≥ a x ∈ [−a, a]uL��and
N � {i numeri primi} {i numeri pari} \ {2}tC��and
R {2}, {x > 2}, {[−3, 2)}, {x < −3}

RTSVU7W)XZY\[ZY\]���_��Ta o ekhmlmrzb+r g�yvg h g/ikjfg dZlma j-ikj b iky acb+d-� gk�
a) |ab| = |a||b| b)

√
a2 = |a| c)

∣

∣

a

b

∣

∣ = |a|
|b|

RTSVU7W)XZY\[ZY\]��E_�`7afu�e|dfhmavt g rma yq� g � j b+��ave|d g √5 − x = 1+
√

x
p{¡ yvg s|b+dft-e�b y � j b|tGrzb �l�e g dZlmrzb o � a-a o=g/o � rma-hma7e|lmlma g d g 5−x = 1+2

√
x+x

u/ave@¢
2−x =

√
x
px¡ yvg skb+dft-ed j eVskb o=g dZl g b y � j b|tGrzb+l�e£hma@e|lmlma g d g�yq� g � j b+��ave|d g x2−5x+4 = 0

uzw g wCb�h�e ynj ��ave|d-a
x = 4 g x = 1

pO`@ekh�lmanl jfg dft-e�� j andftGa x = 4
d g/ynyq� g � j b+��ave|d g tGa¤~Cb+rml g d-�Lb�hma�wCb

1 = 3
p ¥�ekh � � u�w g dfe|d�s|b�¦

RTSVU7W)XZY\[ZY\]¨§'_�©Er�eLs|b+r g l j lml g�yvg h�e ynj ��ave|d-a{t g/ynyvg h g/ikjfg dZlma g � j b+��ave|d-almrma i e|dfe o=g lmrmavu�w gk�
a) sinx =

√
3

2 b) 2 sinx =
√

2 cos x c) sinx cos x = tan x

4
d) sin2 x + 2 cos2 x − 3

4 = 0 e) cos 2x − cos2 x = tan2 x

ª



RTSVU7W)XZY\[ZY\]��E_£`7lzb � a y anr g ~ g r�� j b y a�skb y e|rma�t g/y ~Cb+rzb o=g lmr�eOr g b yvg k
wCb h�a i d-a��CuVb+l�eu/acb|hzu j dCb g hm~-r g h�hmave|d g t-eVs g α �£j d b+d i e y e=t g/y�� � � j b|tGrzb+dZl gk�b��

cosβ = 1 − 1
k2

� �
tanα = k2 − k

RTSVU7W)XZY\[ZY\]���_�` g/o ~ y a��CuVbG� o e|lmanskb+dft-e�aE~Cb|hzhzb iki aq� yvg h g/ikjfg d7lma g hm~-r g h�hmave|d-a �b�� [

1
cos (−α) + cos(π−α)

1−sin(2π−α)

]

tan(π + α)

� � tan( 7

4
π)

cos( 5

3
π)

− cos 3

4
π

sin 7

6
π

+ 2 sin( 3
4π) cos(−π

4 ) − sin 3
2π
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